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The Periodic Table of the Elements
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* The lanthanoids (atomic numbers 58—71) and the actinoids (atomic numbers 90-103) have been omitted.

The relative atomic masses of copper and chlorine have not been rounded to the nearest whole number.

ELEm

SLRRK
KKK
SRS

19090
Gl
[0, 9,0:0,

.0
X

iH
1Ty
S

%
o
«.‘

“
255

X
3
%0
:"A‘
S0
K85

O
s
a
X
é

0%
oot
e X
= fa
RS

S
oK
%
X
28
55

b93s%eS
SRR

CRRK,

90X

55

o5

OO
dSotedes
REHLKS
’00
55

X \J
SIS
S <
PRSI
P
SRERLS,
i
I
S

(90090 %
SRR
(90950509
Gk



X355
K M0 \

@g&%

SRS

S

%5

QLK
RIS
000&0%0

RS

<
888
R
2R
RS
238}
SStetotetets

%
%%

o0

XL
< SRRIKIIGIKRA

RARRAKARKARA KN

05X

lototele
ETHHS
1)

1%

G
4%

4

KL
QLK
R

&
255
8

O O
s
X XXX
S
&0
X

X

K5
X5
SRR

<535
S
RO
LRER

¢
X
555
L5

<
S
bose%s
KK
KL
QLR

S
R
ool

<
X
5
k‘kgﬁ
o ete%et
ZRRKS

BLANK PAGE

X
X
o
g

oS

SRS
hateogtes
AN
Lo oo
KR

X
2
o)
%
XX

<
Yo
R

05
3
92
<

S5
KX
PO
S
ptetete!

SSoetetetodetes
PRIZRKLLRRS

=

0098t
boo%
%
&
%o

SR

SOV
<]
CLLRKS

0%
000
XK
5

G

X

4
LRRK

2905
S5

o%
%

X
<X
%o

OG0
RS
Q55
o
55
!

%
58
090
X
%
2K
S

XXX
Rasesess
S
dedodels
8K

<
ool
S5

KL

55
el

&
RRE

SR
%3

5

2o

N
SRR
5008
k<o
R
58

0
<
=R
2
il

45

K
KRS
2L
S
5
8K,

G
o
%o
X8
%
0%t

55

SIRIKIK,
SRS
XS
COREKS
IR

CSRRKAL
K

<
‘é
<X
d&
KK
R

. J

3
acom R0 T 00 Tum over v
p 7 0 7 01 A 0O 3 3 2

%
0%
o%
o%s
%
<




Answer ALL questions.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box £ and then mark your new answer with a cross [X.

1 This question is about mixtures and compounds.

(@) The box gives some methods used to separate mixtures.

chromatography crystallisation

fractional distillation simple distillation

Choose methods from the box to answer the following questions.
Each method may be used once, more than once or not at all.

(i) Identify a method to separate a single food dye from a mixture of food dyes.

(1)
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(b) The diagram represents a molecule.

Explain why this molecule is a compound.

(c) The molecular formula of another compound is C;H;N;O,

(i) State the number of different elements in C;HsN5O,

(1)

(ii) Determine the number of atoms in a molecule of C;HsN;O,

(Total for Question 1 = 7 marks)

.

5

acom R0 I 00 Turm over »
p 7 0 7 01 A O &5 3 2




7

2 This question is about rusting.
(@) A simplified formula for rust is Fe,0;

(

) Name the two substances needed for iron to rust.

(2)

(i) Give the chemical name for rust.

(iii) What type of reaction occurs in the rusting of iron?
(1)

[ A combustion
neutralisation

oxidation

|
|
|

O N W

thermal decomposition

(b) Some iron objects are coated with a layer of zinc to prevent rusting.

(i) Name this type of rust prevention.

(i) Explain how this type of rust prevention continues to protect iron when the
layer of zinc is damaged.
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i) Give two other methods used to prevent iron from rusting.
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(Total for Question 2 = 9 marks)
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3 This question is about states of matter. 58

(a) The box gives words relating to changes of state. i o

condensation cooling evaporation g

freezing melting sublimation SR

=

BT

LS
i %

Complete the table by giving the correct word from the box for each
change of state.

Change of state Name of change
solid to liquid
solid to gas

liquid to solid

(b) When ammonia gas and hydrogen chloride gas mix, they react together to form a
white solid called ammonium chloride.

The equation for the reaction is
NHs(g) + HCl(g) — NH,CI(s)

A teacher soaks a piece of cotton wool in concentrated ammonia solution and
another piece of cotton wool in concentrated hydrochloric acid.

The teacher places the two pieces of cotton wool at opposite ends of a glass tube
at the same time.

After several minutes, a white ring of solid ammonium chloride forms.

cotton wool soaked cotton wool soaked

. white ring of .
in concentrated . g . in concentrated
) ) ammonium chloride . .
ammonia solution hydrochloric acid
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NN IR0 QO acom
p 7 0 7 01 A 0O 8 3 2



SatNessseteet

LI

K
5K
<

(i) State the name given to the spreading out of gas particles.
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(i) State how the diagram shows that the particles of ammonia gas are travelling
at higher speeds than the particles of hydrogen chloride gas.

(1)

(iii) Gas particles travel at high speeds.

Give a reason why the white ring of ammonium chloride takes several minutes
to form.

%
R
SRS
SIS
25

'S
S5

%3?
h5%t

0>
S
S
X8
2
RS

K
LRREALRES
(RS
KK
150568

<

oo

o X
SRKR
KL

0.9

S

d000%0,
R
LIS

CRS
oo

<55

ZRIRRLRKRE:

(iv) Concentrated ammonia solution and concentrated hydrochloric acid
are corrosive.

Give one safety precaution the teacher should take.
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(Total for Question 3 = 7 marks)
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4 A teacher uses this apparatus to find the percentage of oxygen in a gaseous mixture
of oxygen and argon.

mixture of oxygen and argon glass tube
copper powder

T e e

7 S

syringe A T syringe B
heat

This is the teacher’s method.
Step 1 heat the copper powder

Step 2 push the plunger on syringe A to pass the mixture of oxygen and argon over
the hot copper so that the mixture moves into syringe B

Step 3 push the plunger on syringe B to pass the mixture of oxygen and argon over
the hot copper so that the mixture moves into syringe A

Step 4 record the reading on syringe A
Step 5 repeat Steps 2, 3 and 4 a number of times

The volume of gas decreases as the oxygen reacts with the copper.
Argon is unreactive so does not react with the copper.
The copper powder turns black.

(@) (i) Give areason why the copper powder is heated.

(iii) Give the name of the black powder that forms when the oxygen reacts with
the copper.
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(b) The table shows the teacher’s results.
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(i) State how the results show that all the oxygen has reacted.
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(ii) The volume of gas in the glass tube and connecting tubes is 175 cm’.
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Use this value and the results table to calculate the percentage of oxygen in
the mixture of oxygen and argon.
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(i) Suggest one reason why the calculated percentage of oxygen in the mixture
may not be accurate.

(Total for Question 4 = 8 marks)
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( )

5 (a) Complete the table to show the relative mass and relative charge of a
proton and a neutron.

(2)

Proton Electron Neutron

Relative mass 1/2000

Relative charge -1

(b) Magnesium has three isotopes.

(i) State the meaning of the term isotopes.

(i) The symbol for an atom of one isotope of magnesium is
Mg
Give the number of protons, neutrons and electrons in one atom of
this isotope.
(2)
number of protons

number of neutrons

number of electrons
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(i

ii) A sample of magnesium contains these percentages of the three isotopes.
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Use this information to show that the relative atomic mass of
magnesium is 24.32

(2)
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(iv) One mole of magnesium has a mass of 24.32g.
There are 6.022 x 10% atoms in one mole.
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Calculate the mass, in grams, of one atom of magnesium.
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Give your answer to 4 significant figures.

(2)

mass = .

(c) The equation for the reaction between magnesium and oxygen is
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Determine the maximum amount, in moles, of magnesium oxide that can be
produced from 0.50 mol of magnesium and 0.20 mol of oxygen.
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(Total for Question 5 = 11 marks)
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( )

6 This question is about sodium oxide, Na,O

(@) The diagram shows the electronic configuration of atoms of sodium and oxygen.

Sodium Oxygen

Describe the changes in the electronic configuration of the atoms of sodium and
oxygen to form the ions in sodium oxide.

(b) Calculate the relative formula mass (M,) of sodium oxide, Na,O, using information
from the Periodic Table.
(1)

16

R0 A A a
p 7 0 7 01 A O 1 6 3 2

SHRK
KRS,
SRR
SR

(X
LR
AR
e

e
SIS,
Dode=tet

S
0.0(04 '0.
UK,

SRS
XXX

SR

ReZetetetoss



REEESS

SIS

odeseteteted
RS

9%

RS

S

QeSete%e!
RS

%

RIS
o
255

&S

5
3
KKK

<535
QUSRI
LIRS
RLIRLRRK

6
RS

XX

ﬁ% IO AN
R EKEIHKEZRK

<X,

X
%

o2

<
<

33
%
9%

X X
%

%
&
%

0

<5

0%
<

%
%%

o2

oot

2%

<

285

55
o2l
S

o2

<
<

<
0%

<
09
ool
%
b

ool

05!
25

K
oS
8%

o%
L

0%

5

o%
<

<
%

gvv

DN
RN
e otete s
KRR
2

%
XK HLIKRIK

KK

<
o%

5
ot
?v»
odeletetedotedotet

o

<
KRHKARAAXARAA

o225
GCIRIEIKIRL

o%
%
<
195%
<

<

»

<

R
9
RS

A
oS

K

3
< J
Y
z

%%

%
&KL

<>
3358
R

XY

<5

05
e
5

9!

A

”
SRR
LA
e T 8
b

X
X
.00

2

o202

S

poteletototeds
SRR,
05059

o%
IR

OO
KLLRS

%
<

<

CSIRIEER
RARIAKARKAR

%
0%

(0
X%
2%
5
S
2RK

(c) Explain why solid sodium oxide does not conduct electricity.

(e) When sodium oxide is heated it reacts to form sodium metal and
sodium peroxide, Na,O,

Complete the equation for this reaction.
(1)

Na,0 —

(Total for Question 6 = 9 marks)
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7

This question is about soluble and insoluble compounds.

A precipitate is an insoluble compound formed when solutions of soluble
compounds react after mixing.
(a) Different solutions are mixed in separate test tubes.
Tube 1 copper(ll) sulfate solution and calcium chloride solution
Tube 2 magnesium nitrate solution and potassium sulfate solution

Tube 3 sodium carbonate solution and copper(ll) sulfate solution

In which of the tubes will a precipitate form?

[ A Tand2only
[ B 2and3only
[ € 1and3only
[J D 1,2and3

(b) A student mixes solutions, containing equal amounts in moles, of silver nitrate
and sodium chloride.

The equation for the reaction between silver nitrate solution and sodium chloride
solution is

AgNOs(ag) + NaCl(ag) — AgCl(s) + NaNOs(aq)

(i) State the colour of the precipitate of silver chloride.
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(i) The student wants to obtain pure, dry crystals of sodium nitrate.
Crystals of sodium nitrate decompose at temperatures above 300 °C.

Describe a method the student could use to obtain pure, dry crystals of
42 sodium nitrate.
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(iii) Give an advantage of mixing solutions containing equal amounts, in moles,
of silver nitrate and sodium chloride.

(Total for Question 7 = 8 marks)
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r

8 The table shows the structures of six organic compounds.

(ii

(i

H H
N/
H H H H H C
| | | | Y H\C/ \C/H
H—(|:—(|ﬁ—(|ﬁ—H C=C—C=C H~ >H
H CH;H H c” H
H™ “H
T 1 |
H_$_C|_C|_C|_H C=C—C|—H H—C|—H
H HHH H H

) Name compound E.

Give the letter of a compound not shown as a displayed formula.

) Give the letter of a saturated compound with the general formula C,H,,
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(b) Compound F reacts with bromine in the presence of ultraviolet radiation.
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(i) Complete the equation for the reaction.
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(i) Give the name of this type of reaction.
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(c) (i) Another compound, G, has this percentage composition by mass.

C=378% H=6.3% Cl=559%
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(ii) The relative formula mass (M,) of G is 127
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(d) Compound E is used to make an addition polymer.

(i) Complete the equation to show part of the polymer formed from two
molecules of compound E.

(2)
H H H
N
2 /C=C—C|—H —_— —C—C—CcC—C—
H H
(ii) Give one problem caused by the disposal of addition polymers.
(1)
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(Total for Question 8 = 15 marks)
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9 A student uses this apparatus to investigate the rate of reaction between calcium
carbonate chips and dilute hydrochloric acid.
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(a) Explain why using a cotton wool plug increases the accuracy of the
student’s results.
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(c) The student uses the balance readings to find the decrease in mass of the flask
and contents.

The graph shows the student’s results.

1.00
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0.70

Decrease

. 0.60
in mass/g

0.50
0.40
0.30
0.20

0.10

0.00

| | | | | | |
0 20 40 60 80 100 120 140
Time/seconds

() Give a reason why there are some calcium carbonate chips remaining in the
flask when the reaction stops.

(ii) State how the student would know when the reaction has stopped.
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(iii) Use the graph to determine the amount, in moles, of carbon dioxide produced
during the reaction.

M, of CO, = 44]

(2)
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AMOUNt = mol

(iv) Use the graph to calculate the rate of reaction, in grams per second, at time
60 seconds.

Show your working on the graph.
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(d) The student repeats the investigation by diluting the original hydrochloric acid.

The student then determines the initial rate of reaction at different percentage
concentrations of the original hydrochloric acid.

The graph shows the student’s results.

0.025 ~

0.020

Initial rate
of reaction
ing/s

0.015

0.010

0.005

0

! ! |
0 20 40 60 80 100

Percentage concentration of
original hydrochloric acid

(i) Describe the relationship between the initial rate of reaction and percentage
concentration of the original hydrochloric acid.

(i) Explain why changing the concentration of hydrochloric acid has an effect on
the initial rate of reaction.

(Total for Question 9 = 15 marks)
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( )

10 This question is about substances with covalent bonds.

(@) (i) Draw a dot and cross diagram to show the outer shell electrons in a molecule
of nitrogen, N,
(2)

(ii) Describe the forces of attraction in a covalent bond.
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(b) The diagram shows three different structures of carbon.

Structure A Graphite Ceo fullerene

) Name structure A.
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(ii) Graphite and Cq, fullerene contain covalent bonds, but have
different structures.
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Explain why Cg, fullerene has a much lower melting point than graphite.

Refer to structure and bonding in your answer.

5

RS

SN
0N

WIS @ )

2825
™
IELLEN.
LR

AR
<7

66
S0sosotose
9e%%

SRS

5
K5
5%
bo3es
hoto%

%
<

KK
55

R

doseletetel &

CRLRAR

55

RIRRELRL

K RIRRKRKARIRAARK AN

%

%

5%
XXX
190

%
XS
ool
885
1200008
ot

>
Rosogeses
o)

2

QLSS
IS

O
<5
KRR

<
<
X
%

etetototetete!
RIS
CRLLRLRARKS

A

o
RL

‘0

%%
<

<

XL

250
%%
00’:.

25
2
o

(Total for Question 10 = 9 marks)
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11 A student uses this apparatus to heat crystals of hydrated zinc sulfate and collect the
liquid produced.

hydrated zinc sulfate

heat -

0 colourless liquid

(@) (i) Describe a chemical test to show that the colourless liquid contains water.

(i) Describe a physical test to show the colourless liquid is pure water.
(2)
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(b) The equation for the decomposition of hydrated zinc sulfate is
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The student records these masses.

mass of boiling tube =41.649
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Calculate the maximum volume, in cm?, of pure water that could be produced.
Give your answer to 1 decimal place.
[1.00cm’ of pure water has a mass of 1.00g]

[M, of ZnSO,7H,0=287 M, of H,0 =18]
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(c) In an experiment using a different mass of ZnS0O,-7H,0 the maximum volume of
pure water that could be produced is 8.5 cm’.
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The student collected the pure water and calculated the percentage yield to
be 20.3 %.

(i) Calculate the volume, in cm?, of pure water collected.
(1)
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(ii) Explain an improvement to the apparatus that would increase the percentage
yield of pure water.

(Total for Question 11 = 12 marks)

TOTAL FOR PAPER = 110 MARKS
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